sendsl-p!'t4°

sendsl-p(es;z;A;k;B;l;tg;T; f)
=4et ((vartype(source(l);z) Cr A)
& (Ve:E. (loc(e) = source(l)) = (kind(e) = k) = (valtype(e) Cr B))
& (Ve:E. (kind(e) = rev(l,tg)) = (valtype(e) Cr T)))
cA (Ve:E.
(loc(e) = source(l))
= (kind(e) = k)
= (IL:{e:E| kind(e’) = rev(l,tg)} List
((Ve":E. (¢! € L) < ((kind(e’) = rcv(l,tg)) cA (sender(e’) = e)))
& (Veq, ea:E. e1 before e; € L = (e1 <loc e3))
& map(Ae’.val(e’);L) = f((x when e),val(e)))))

clarification:

sends1-p(es;z; Ask; B;l;tg; T f)
=qet ((es-vartype(es; source(l); ) Cr A)
& (Ve:es-E(es).
(es-loc(es; €) = source(l) € 1Id)
= (es-kind(es; €) = k € Knd)
= (es-valtype(es; e) Cr B))
& (Ve:es-E(es). (es-kind(es; €) = rev(l,tg) € Knd) = (es-valtype(es; e) Cr T)))
cA (Ve:es-E(es).
(es-loc(es; €) = source(l) € Id)
= (es-kind(es; €) = k € Knd)
= (IL:{e’:es-E(es)| es-kind(es; €¢’) = rev(l,tg) € Knd} List
((Ve':es-E(es).
(¢/ € L € es-E(es))
<= ((es-kind(es; €’) = rev(l,tg) € Knd)
cA (es-sender(es; e') = e € es-E(es))))
& (Vey:es-E(es), eg:es-E(es).
e1 before e5 € L € es-E(es) = es-locl(es; e1; e3))
& map(\e’.es-val(es; e');L)

;(es—when(es; x; e),es-val(es; e))
€ (T List))))
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